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U HhM| 1000|353} [cFu/mL| © 7 0.70[8&t mg/L [E&dE
g N =2UE /100mL| 2HE Of| = tHI | 0.30|8t mg/L |[EHE
EHMU AT =2UE /100mL| 2HE Az 0.50| 8t mg/L |[EHE
=1 0.010[35} mo/L | =HE 1.1-CI22 2023 0.030[35} mo/L |24 &
24 1.50[38 mg/L | 24 & At BHER 0.0020|5t | mg/L |2H&
Hl 4~ 0.010]35t mg/L | 24dZ| [1.2-CI2E22-3-Z222Z 28| 0.0030|5 | mg/L | 242
Me g 0.010]|3t mg/L |24 & a5 10000]| 5} mg/L | 49
F2 0.0010l5t | mg/L |2H& DpUZHZEE A H| 2 100[5t mg/L |[EHE
Al 0.01015t |mo/L |228= L A raiaa - | e
3= 0.0503F | mg/L |2Z= ot aaea | - | o=
ot Lot A A 0.50]| 35} mg/L |24 & = 103t mg/L | 0.016
ML 100] 5t mg/L | 2.6 Al 50| st = |EdE
24 10|35t mg/L | 24 & M| 0.50|5t mgo/L |28 &
== 0.0050]| s} mg/L | E4& F=0lB2sE 5.8~8.5 - 5.9
o= 0.0050] 5} mg/L | 24 & ot 30|35t mg/L | 0.018
Clolobx| = 0.020|35t mg/L | 24 & Haol=2 2500] 5t mg/L | 24.7
ol2}E| 2 0.060[5} mg/L | 24 & A 0.30|3} mg/L | 0.06
HLUEZE2 0.040|35t mg/L | 24 & akzt 0.30|8t mg/L |24 &
7t 0.070l35t mg/L | 24 & =g 10|35t NTU | 0.17
11 1-EEZ 220 E 0.10|s} mg/L =4 & gHito| 2 2000] st mag/L 18
B E2IZZ 2023l 0.010[35t mg/L | 24 & L2o|E 0.20|8} mg/L |24 &
Ez|EZZ2=2oEa 0.030] st mg/L =4 & 1,4-Cto| S &t 0.050] st mg/L | 24 &
CI2=22m Et 0.020|5} mg/L | 0.011 =1 0.030[5} mo/L |28 &
B 0.010]|s} mo/L | 24 & of &t of 4
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AubM 1000|3F  [CFU/mL| 64 =5 0.70]3st mg/L |[2&dZ
s S =4dE /100mL| A= ofl & I I 0.30|s} mg/L | 28 &
M EAT =4dE /100mL| 2B & A 0.50|s} mg/L | 28 &
=t 0.010| 8t mg/L | 242 11-Cl2220| 2 0.030| 3} mg/L | 2& =
2 1.50|3} mg/L | 24 & At EHER 0.0020[3t | mg/L |2&Z
Bl A 0.010|5} mg/L | 24&| [1.2-tlezr-3-22=2==2m| 0.0030|8t | mg/L |24=
Majl g5 0.010[35} mg/L | 24 & 3= 10000] 5} mg/L | 98
=2 0.0010ls8t | mg/L [2&HZ T EMZF A 100|5t mg/L [2&H &
Al 0.01015t |mo/L |228= L A raiaa - | e
3= 0.0503F | mg/L |2Z= ot aaea | - | o=
ot Lot A A 0.50]| 35} mg/L |24 & = 103t mg/L | 0.017
EIARM Al A 100[5t mg/L| 3.5 A= 50| s} £ |EdE
=24 10|35} mg/L | E&8& M| 0.50|5} mg/L | 28 &
== 0.0050( s} mg/L | E4& Ta0I2sE 5.8~8.5 - 6.3
o= 0.0050] 5} mg/L | 24 & ot 30|35t mg/L | 0.120
ColobX| = 0.020] st mg/L | E4& HArol2 2500]| s} mg/L | 48.3
nt2tE| 2 0.060] st mg/L =4 & = 0.30|3} mg/L | E4E
HUEZE2 0.040l3t [ mg/L |[2&HE Yzt 0.30[3} mg/L | 0.006
7t 0.070]| s} mg/L | 24 & Etx 10|35t NTU | 0.98
11 1-EEZ 220 E 0.10|s} mg/L =4 & gHito| 2 2000| st mg/L | 11
HEZIZZ 20 &3 0.010]|3st mg/L | E4& UF0|g 0.20|s} mg/L | E4E
Ez|Z22 202 0.030l5t [ mg/L |EHE 1,4-Clo| 4t 0.05013t [ mg/L |2&HZ&
CIZ22M et 0.020]st mg/L | 0.016 = 0.030| st mg/L |0.0003
£l 0.010]35t mg/L | 24d& of st of
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UdtMl 1000|3F  [CFU/mL| 15 =5 0.70]3st mg/L |[2&dZ
SHEAT =8E /100mL| 2B E of| & I i 0.30]| st mg/L | 28 &
=AM ETT =4dE /100mL| 2B & A 0.50]| st mg/L | 28 &
=1 0.010]| 3} mg/L | 24 & 11-CIE2220 23 0.030[5t mg/L |[EXE
=4 1.50]|5} mg/L | EHE AME SHEFA 0.0020|3} | mg/L [EHZ
Hl 4~ 0.010]35t mg/L | 24dZ| [1.2-CI2E22-3-Z222Z 28| 0.0030|5 | mg/L | 242
= 0.010l3t | mg/L |2d2 a2 10000[3t [ mg/L | 159
=2 0.0010ls8t | mg/L [2&HZ 7T E A 100|5t mg/L | 2H &
Al 0.01015t |mo/L |228= L A raiaa - | e
3= 0.0503F | mg/L |2Z= ot aaea | - | o=
ot Lot A A 0.50]| 35} mg/L |24 & = 103t mg/L | 0.006
AL A A 100[5t mg/L| 5.8 A= 50|35t £ |EdE
=24 10|35} mg/L | E&8& M| 0.50|5} mg/L | 28 &
Jleg 0.0050|5} | mg/L | 2HZ Fa0|25% 5.8~8.5 - 6.5
o= 0.0050] 5} mg/L | 24 & ot 30|35t mg/L | 0.022
Cto|otX| = 0.020|35t mg/L | 24 & ool 2500] 5t mg/L | 86.0
ol2}E| 2 0.060[5} mg/L | 24 & A 0.30|3} mg/L | 0.07
HLUEZE2 0.040]st mg/L =4 & Y7t 0.30|3} mg/L | 0.006
Ftut 0.070] st mg/L =4 & = 103t NTU | 0.16
11 1-EEE220|E 0.10|s} mg/L =4 & gHito| 2 2000] st mg/L| 26
HEZIZZ 20 &3 0.010]st mg/L =4 & UF0|g 0.20|s} mg/L | =8 &
EZ|EZ20 2 0.030] 35t mg/L | 0.004 1,4-CtO| S A 0.050[st mg/L | 28 &
CIZ220 &t 0.020|35t mg/L | 0.012 <2k 0.030| 5} mg/L |0.0042
Ll 0.010[5} mg/L | 24 & o st of
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UM 1000|868t |cFu/mL| O = 0.70[st mg/L | E4&
N S =4dE /100mL| 2HE of & &l I 0.30]| st mg/L |24 &
MR =4dE /100mL| A& IAA 0.50]|3st mg/L |24 &
=1 0.010|5} mg/L | 24 & 1.1-Cl| 2220 & 0.030| 5} mg/L |24 &
=4 1.50| 5} mg/L |24 E AtE Bt 0.0020|5t | mg/L |[2&HE
Bl 0.010|s} mg/L |2dZ&||1.2-cl22e2-3-E22Z28| 0.0030/5t [ mg/L |E2dZ
= 0.010]3} mg/L | 24 & 4% 10000| 35t mg/L | 78
T2 0.0010|5t | mg/L [B&EE 7R A 100[38t mg/L |24 &
Algt 0.010l3t | mg/L [2HZE e A et - | as
EE] 0.05013t | mg/L [2H= or Rl I I
A2 Lot A A 0.50]| 35t mg/L | 24 & = 10|35t mg/L | 0.052
e SPNYSESES 100| 5} mg/L | 5.0 M 50| 5t T |23
24 10|35} mg/L | 24d& M| 0.50|38t mg/L | EEZE
IlES 0.0050l5t | mg/L | 2HE T20I2EE 5.8~8.5 - 6.0
H = 0.0050|3F | mg/L |24Z ofed 30|35} mg/L | 0.044
Cto|otX| = 0.020| 5} mg/L | =4 & Ha0l2 2500(5t mg/L | 15.8
tztE| 2 0.060| 3} mg/L |24 E =] 0.30[5t mg/L |24 E
HLU ERZE2 0.040|5} mg/L | 24& Uzt 0.30]|3st mg/L | 24 &
Ftutel 0.070lst | mg/L |2dZ Bt 10|35t NTU | 0.11
1.11-ER|2Z2 20|t 0.10]5t mo/L | 225 gHato| 2 2000]| 5} mg/L| 18
HEZIZZ=2o 23 0.010|5} mg/L |24 E = 0.20]|st mg/L |24 E
Ez|Z22o2a 0.030]5} mg/L | 24& 1,4-Cto| 4t 0.050]5} mg/L | 24 &
CI2z2 20 &t 0.020]| 5} mg/L | 0.016 =1 0.030]| 5} mg/L | 24&
1 0.010l8t | mg/L |2dZ of st of




